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Q;@ u Negatiiviset eksponentit 10

Nimi: Paivimaara: _ Pisteet: __
208, 1+ 1071 = 1002 =
2x10= —1x 10> =
7x 107D = 1004 =
100D = 1009 =
704,5 x 100Y = 296,2+ 100Y =
6x 10 = 4421 x 1003 =
107 = 809, 5 x 1073 =
4x10° = 1009 =
529,8+ 1001 = 700,9 1073 =
1009 = 208, 5x 1001 =
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Negatiiviset eksponentit 10

Nimi:
208, 1+ 10D =2081
2% 10 =20
7x 1070 =0.7
—2x 10" =-02
704,5 x 10°% = 0.07045
6x 10 = 60
107 = 0.0001
4x10° =4
529,8 + 107 = 5298

10°% = 0.0001

Paivamaara: _ Pisteet:
1072 = 0.01
—1x 10> =-100
107 = 0.0001
107 = 0.001
296,2 + 107 = 2962000
442, 1 x 107 = 0.4421
809, 5 x 10 = 0.8095
107 = 0.0001
700, 9 + 107 = 700900

208,5 x 1001 =20.85
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